Mayor Fred Eisenberger

2021	Total Expense		# of Attendees	ProRated Expense	
Meeting Expense - Hamilton Club take out - March 30/21	\$	21.47	1	\$	21.4
Meeting Expense - Hamilton Club take out - April 15/21	\$	22.60	1	\$	21.
Meeting Expense - Hamilton Club take out - June 2/21	\$	22.60	1	\$	22.0
Meeting Expense - Hamilton Club take out - June 3/21	\$	13.56	1	\$	13.5
Meeting Expense - Hamilton Club - August 19/21	\$	88.00	2	\$	44.0
Meeting Expense - Charred Rotiserie, Exit Lunch Aug 30/21	\$	59.89	2	\$	29.9
Meeting Expense - La Prep - Nov 8/21	\$	22.37	6	\$	3.7
Neeting Expenses - Skip the Dishes - Nov 9/21	\$	22.75	4	\$	5.6
Neeting Expenses - Hamilton Club - Nov 11/21	\$	175.34	5	\$	35.0
Meeting Expense - Symposium, Nov 2/21	\$	63.19	2	\$	31.6
Neeting Expense - Bread Bar, Nov 10/21	\$	60.00	2	\$	30.0
Neeting Expense - Southcote 53 Exit Lunch, Dec 7/21	\$	44.60	2	\$	22.3
Meeting Expense - Seasoned, Dec 3/21	\$	66.44	2	\$	33.2
Neeting Expense - Ancaster Mill, Dec 9/21	\$	108.14	2	\$	54.0
Neeting Expenses - The Ship - Dec 17/21	\$	16.95	1	\$	16.9
Fuel charges	\$	699.02		\$	699.0
107 Charges	\$	250.82		\$	250.8
Big City Mayor's Conference - Ottawa - October 12-14/21 Transportation Accomodation	\$ \$	499.98 538.39		\$ \$	499.9 538.3
TOTAL	\$	2,796.11		\$	2,374.0

Councillor Wilson - Ward 1

	2021		Total Expense		# of Attendees	# of Attendees ProRated Expe	
NIL			\$	-	0	\$	-
		TOTAL	\$	-		\$	-
Coucillor Farr - Ward 2							
	2021		Tota	I Expense	# of Attendees	ProR	ated Expense
Mileage January - Decembe	er 2021		\$	356.95		\$	356.95
		TOTAL	\$	356.95		\$	356.95
Councillor Nann - Ward 3							
	2021		Total Expense		# of Attendees	ProR	ated Expense
NIL			\$	-		\$	-
		TOTAL	\$	-		\$	-
Councillor Merulla - Ward	<u>4</u>						
	2021		Tota	I Expense	# of Attendees	ProR	ated Expense
NIL	2021		Tota \$	I Expense	# of Attendees	ProR \$	ated Expense
NIL	2021	TOTAL			# of Attendees		ated Expense - -
NIL Councillor Collins - Ward		TOTAL	\$	-	# of Attendees	\$	-
	<u>5</u>	TOTAL	\$ \$	-		\$ \$	-
Councillor Collins - Ward	<u>5</u> 2021	TOTAL	\$ \$ Tota	- - Il Expense	# of Attendees	\$ \$ ProR	- - ated Expense
	<u>5</u> 2021	TOTAL	\$ \$	-		\$ \$	-
Councillor Collins - Ward	<u>5</u> 2021 1	TOTAL	\$ \$ Tota	- - Il Expense		\$ \$ ProR	- - ated Expense
Councillor Collins - Ward	<u>5</u> 2021 1 h 29, 2021	TOTAL	\$ \$ 	- - Il Expense 623.63		\$ \$ ProR	- - ated Expense 623.23
Councillor Collins - Ward Mileage January - July 202 Conference - CUTRIC Marc	<u>5</u> 2021 1 h 29, 2021	TOTAL	\$ 5 Tota \$ \$	- - Il Expense 623.63 295.00		\$ \$ \$ \$	- - - - - - - - - - - - - - - - - - -
Councillor Collins - Ward Mileage January - July 202 Conference - CUTRIC Marc	<u>5</u> 2021 1 1 2021 2021		\$ 5 Tota \$ \$ \$	- 		\$ ProR \$ \$ \$	- - - 623.23 295.00 400.00
Councillor Collins - Ward Mileage January - July 202 Conference - CUTRIC Marc Training - AMO September	5 2021 1 1 1 2021 2021 2021		\$ Tota \$ \$ \$ \$	- - - - - - - - - - - - - -	# of Attendees	\$ ProR \$ \$ \$ \$	- - - - - - - - - - - - - -
Councillor Collins - Ward Mileage January - July 202 Conference - CUTRIC Marc Training - AMO September Councillors Powers- Ward	<u>5</u> 2021 1 1 2021 2021		\$ Tota \$ \$ \$ S	- 		\$ ProR \$ \$ \$ ProR ProR	- - - - - - - - - - - - - -
Councillor Collins - Ward Mileage January - July 202 Conference - CUTRIC Marc Training - AMO September	5 2021 1 1 1 2021 2021 2021		\$ Tota \$ \$ \$ \$	- - - - - - - - - - - - - -	# of Attendees	\$ ProR \$ \$ \$ \$	- - - - - - - - - - - - - -

Councillor Jackson - Ward 6						
2021		Total Expense		# of Attendees	ProRated Expense	
Event Ticket - YWCA Jan 28/21		\$	250.00	2	\$	125.00
Meeting Expense - Donut Diner Dec 4/21		\$	19.71	2	\$	9.86
Meeting Expense - Donut Diner Dec 11/21		\$	19.76	2	\$	9.88
	TOTAL	\$	289.47		\$	144.74
Councillor Pauls - Ward 7						
2021		Total	Expense	# of Attendees	Prof	Rated Expense
NIL		\$	-		\$	-
	TOTAL	\$	-		\$	-
Councillor Danko - Ward 8						
2021		Total	Expense	# of Attendees	Prof	Rated Expense
NIL		\$	-		\$	-
	TOTAL	\$	-		\$	-
Councillor Clark - Ward 9						
2021		Total	Expense	# of Attendees	Prof	Rated Expense
NIL		\$	-		\$	-
	TOTAL	\$	-		\$	-
Councillor Pearson - Ward 10						
2021		Total Expense		# of Attendees	Prof	Rated Expense
Mileage March - August, 2021 and November		\$	371.03		\$	371.03
	TOTAL	\$	371.03		\$	371.03

Councillor Johnson - Ward 11

2021		Total Expense		# of Attendees	ProRated Expense	
Mileage January - November, 2021		\$	653.21		\$	653.21
тот	TAL	\$	653.21		\$	653.21
Councillor Ferguson - Ward 12						
2021		Tota	al Expense	# of Attendees	Brol	Patad Expanse
	-		-	# Of Attendees		
Mileage January - November, 2021		\$	120.18		\$	120.18
Membership Royal Botanical Gardens		\$	65.00		\$	65.00
Membership Ancaster Agricultural Society		\$	20.00		\$	20.00
ТОТ	FAL	\$	205.18		\$	205.18
Councillor Vanderbeek - Ward 13						
2024		T - 4 -		# -5 6 #	Duck	Deted Francisco
2021			al Expense	# of Attendees		Rated Expense
NIL		\$	-		\$	-
Тот	AL	\$	-		\$	-
Councillor Whitehead - Ward 14						
2021		Tota	al Expense	# of Attendees	Prol	Rated Expense
NIL	_	\$	-		\$	-
тот	FAL	\$	-		\$	-
Councillor Partridge - Ward 15		•			Ŧ	
Councilion Furthage - Wald To						
2021		Tota	al Expense	# of Attendees	Pro	Rated Expense
FMC Board Meeting - Council Representative						
Ottawa November 22 - 25, 2021						
Transportation - Vehicle		\$	545.16			
Accommodation	_	\$	949.20		\$	1,494.36
Event Ticket - Mardi Gras Interval House Jan 21/21		\$	100.00	2	\$	50.00
Event Ticket - Women of Distinction - Feb 2/21		\$	125.00	1	\$	125.00
Meeting - Women's Summit - Evolve - Feb 24/21		\$	69.98	1	\$	69.98
Event Ticket - Mother's Day Interval House, Apr 19/21		\$	100.00	2	\$	50.00
Meeting - William's Café - July 15/21		\$	37.69	2	\$	18.85
Тот	FAL	\$	1,927.03		\$	1,808.19